Instructions for use:

1. The dinner plate can be
adjusted in two steps.

2. When not using the guard,take out the
guard, and then put (M) into the seat.

©-a

3. The seat and table can be 4. The dinner plate can be removed, which is
used separately to become convenient for children and adults to eat at
a study table and chair. the same table.

Warning:

. Failure to follow these instructions may affect the safety of children

. When a child uses a dining chair, the caregiver may not leave.

. Do not use any part of the dining chair if it is damaged or missing.

. Before using the dining chair, please check carefully that all parts
are installed correctly.

. When the child is riding, a seat belt must be used to prevent the
baby from falling or slipping out of the dining chair and causing
serious injury.

. Please do not use this product when your baby can't start it alone.

. Do not disassemble or adjust any part of the dining chair while your
baby is in the dining chair.

. Do not use this product on roads, poolsides, stairs, etc. where it is
dangerous.

. Keep the accessories out of reach of children. Plastic bags and

small parts pose a choking hazard to children.

10. The maximum carrying capacity of this dining chair is 15 kg.

(&) HOWN -

© o0 ~NO

4

ECOTOYS HC-435

INSTRUKCJA MONTAZU
INSTRUCTION MANUAL

Ostrzezenie!
Produkt przeznaczony dla
dzieci od 6 miesigca zycia!

Please read this manual carefully before
use and keep it for future reference.

Przeczytaj uwaznie instrukcje i zachowaj jg do pozniejszego wgladu.

1



Spare parts list:

A B
E Fx4 Gx4 H
_J s O By
I Jx12 Kx8 Lx4 M %N

(A)Seat (B)Desktop holder (C)Desktop left (D)Desktop right
(E)dinner plate (F)Upper seatlegs (G)Lower seat legs (H)Hex wrench
(DCross wrench (J)M6*25bolts  (K)M5*15Self-tapping screws (L)Pad tube
% (M) Guard plug % (N) Plug card

The accessories (M) and (N) with the 3% mark are stored in the guard

when they are shipped from the factory. When the guard is not used,

the plug is removed and blocked in the retaining hole.

Installation steps:

1.Reverse the seat on a clean flat ground, insert the upper seat foot
into the bottom of the seat according to the corresponding number,
tighten it with 8 bolts(M6*25), and then support the seat.

2. After buckling the table top left and right, tighten it with
4 self-tapping screws(M5*15), and then put the lower seat foot
(Undistinguished number).

3. Place the desktop fixing frame on the bottom of the desktop board,
and then tighten it on the lower seat foot with 4 bolts(M6*25) , then
put 4 cushion tubes on the connection between the fixing frame
and the desktop, and then use 4 self-tapping screws(M5*15)to tighten
the fixing frame and At the connection point of the table top board,
and then support the Desktop.

4.Connect the seat and the desktop board according to the corresponding
number, press the middle part of the seat to click into the desktop,
then install the dinner plate, and the dining chair is installed.




Lista czesci:

2. Po zapieciu blatu z lewej i prawej strony (panel lewy i prawy),

dokre¢ go za pomocg 4 wkretéw (M5 * 15), a nastepnie wiéz kazdg
noge (G) w odpowiedni otwor stotu.

=

A B
3. Umiesc¢ szkielet mocujacy na spodzie blatu, a nastepnie przykre¢ go

E Fx4 Gx4 H do do[nych stopgk siedziska 4 érgbami (M6 25.). Nastepnie gmieéé

4 rurki amortyzujgce na potgczeniu miedzy szkieletem mocujgca,
]v W @ a blatem, a nastepnie za pomocg 4 wkretéow (M5 15) dokre¢
o o @ szkielet mocujgcy w miejscu potgczenia ptyty blatu stotu.
I Jx12 Kx8 Lx4 M %N

(A)Siedzisko (B)Szkielet (C)Lewy panel (D)Prawy panel (E)Taca
(F)Goérne nogi (G)Dolne nogi (H)Klucz imbusowy (I)Cross wrench

o
(J)M6*25 $ruby (K)M5*15 Wkrety samogwintujgce (L)Rurka ©
% (M) Wtyczka ochronna 3% (N) Slot
Instrukcja montazu: 4. Potgcz siedzisko i stolik zgodnie z odpowiednimi numerami, docignij
1.Potdz siedzisko do géry nogami na ptaskiej, réwnej powierzchni srodkowg czesc siedziska, aby zatrzasnaC zabezpieczenia. Nastepnie
zamontuj gérne nogi w ooworach oraz dokrec je 8 Srubami(M6*25),
postaw kresetko.

zamontuj tackg obiadowa.




Instructions for use:
1. Tacka obiadowa ma 2 stopni 2. Kiedy nie uzywasz ochronny przed wypadnigeciem

3.

regulacji dziecka, wt6z zatyczke (M) w jego miejsce.
M

Stot i krzesetko mogag by¢ 4. Tacke obiadowag mozna zdemontowaé aby \

uzywane oddzielnie. dziecko mogto jesc¢ przy stole.

UWAGA:

()] A WON -

© o0 NO

. Nieprzestrzeganie tych instrukcji moze mie¢ wptyw na bezpieczenstwo dzieci.
. Nigdy nie pozostawiaj dziecka bez opieki, kiedy korzysta z krzesetka.

. Nie uzywaj zadnej czesci krzesta, jesli jest uszkodzona lub jej brakuje.

. Przed uzyciem nalezy dokfadnie sprawdzi¢ wszystkie czesci i ich

prawidtowe zainstalowanie.

. Nalezy zawsze zapina¢ pas bezpieczenstwa, aby zapobiec wypadnieciu

dziecka, upadkowi lub zeslizgnieciu sie z krzesta i spowodowaniem
powaznego urazu.

. Nie uzywaj tego produktu, jesli Twoje dziecko nie moze samodzielnie siedziec.
. Nie demontuj ani nie dopasowuj zadnej czesci krzesetka jezeli dziecko sie

w nim znajduje.

. Nie uzywaj tego produktu na drogach, basenach, schodach itp., powierzchniach

mokrych, nierownych bgdz niebzpiecznych.

. Akcesoria nalezy przechowywaé poza zasiegiem dzieci. Plastikowe torby i

mate czesci mogg spowodowaé zadtawienie sie dzieci.

10. Maksymalne obcigzenie wynosi 15 kg.



